SuMPO SuMPO EPD
..EPD F4FNBESE (EPD)

Z5&ES © JR-BO-24002E-C

4 NIPPON STEEL

BERBERSH

SUMPOIRIESANILTOI S n
—MAEEIEAY AT H IR EHEE S
RRBFAERAHE-14-8
KANDA SQUARE GATE
https://ecoleaf-label.jp

ATULARBE (F—ATFA FR-ZER)

Stainless Steel (Austenitic*Duplex)

BEHENL
1t
BEM SRR
(I E=#&E4 m RS

BNEEPE (FAMRERE. RATRIOELX, RmORIE)

HEmOBERN, TELKR-HET
BEY 1 ~MILORERFT. REARREKA, SUNEREKAR
FRMUE  JIS (BAREZEMIR)  ASTM, ASME
BHAREBIUNS XEFHHEOMECTTH
AR 80, SAR. 4344, HRER
FRIRE (BEfiimm. t =#RF) t=0.1~150
FRAERE (BImm. ¢=BE%) ¢ =5.5~60

HWabhtE%
HARBMRASHTE X7 L ARAMED
AT L AEEE

https://www.nipponsteel.com/

EBRES JR-BO-24002E-C

EAPCRES PA-187000-BO-03

PCR#% ATYLASE (b)) [535R]
NI 20244118258

RELETEE 2024108118

REEAR B R BIREE A =

RILES JV-BO-24002

RIEEZHAM 20294108108

PCRLE1-DENE
REBSE 202342848
ZER LE ®

— M EIEAY AT T IR HEE RS
E=ERIE*
AERIREER W
ISO1402585&U1S021930( > ARE & RUT -5 DIRIILE
HREE

[EL

OA#EB W AR

*YAT LRI EZ B EANOREEDIHEE, VAT LRI EIT>REEED
ZEEHE.

Z5&ES © JR-BO-24002E-C


https://www.nipponsteel.com/

SuMPO

N .‘.E PD

AAAAA

VERIFIED

SuMPO EPD
1T NRBEES

(EPD)

Z#H&ES ¢ JR-BO-24002E-C

SUMPOBRIESANIN IO
—MRAEEEAY AT T IR S HEE A
ERETREXAHET-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

OF17Y1 )V REEF TSR

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 3800 | kg-CO2eq
[7ye(e 41| kg-SOeq
HALFEAFIH Y 0.099 | kg-CzHaseq
AT 3PN-RYIybTUVFOREICEIL T w (A1) EHHIEE w2 EHEOHE  #(A3] REORE
[(®-1.20M0REEERR EX TSRO,
=H Bif a3 (A1) BEHRERE | (A2] RO | [A3] HEORE
SURZE) IPCC 2013 GWP 100a| kg-CO.eq | 3.8E+03 || 2.7E+03 | 3.3E+01 1.1E+03
AV EBRRIE kg-CFC-11eq| 3.7E-04 3.6E-04 2.4E-10 5.2E-06
7424 kg-SO.eq | 4.1E+00 3.2E+00 2.8E-01 6.5E-01
HALFZAF IV kg-C.H.eq | 9.9E-02 5.8E-02 4.6E-03 3.6E-02
EXREL kg-PO.*eq| 9.9E-01 7.7E-03 2.1E-13 9.8E-01
@ =4 9 % 5 FE 7 i
IEH B “H-9E (ERES) Bifif
FEBEARER 5.7E+02 kg K% [C] =02 %
FEFERREIRILF- 5.1E+04 MJ 1% [Si] =50 %
BAERRRER 8.0E+02 kg YVAY Mn] =16 %
BEATREIRILF- 1.6E+03 MJ U [P] =0.05 %
HIKDEE 4.6E+00 m3 HiE [S] =04 %
Z94)b [Ni] =25 %
@BEZEYIREE SR 0L [Cr] =28 %
IHH -2 TUITY [Mo] =70 %
BEREY 0.0E+00 kg 8 [Cu] =50 %
mERZEY 3.7E+00 kg Z#7 [Nb] =1.0 %
KIMTYAIWICBII2EED BERLTVET, }Qy [Ti] =10 %
TIVIZUL [Al] =20 %
FITATY [W] =30 %
2% [N] =04 %
% [Fe) =47 %




SUMPO SuMPO EPD SUMPOIEIESAI OIS L

E p D - _ — A EEAY AT T IR E HEE RS
°. ‘0 AAAAA 1T NEBEESE (EPD) ERMTFREXAMET-14-8
VERIFIEE KANDA SQUARE GATE
BiES ¢ JR-BO-24002E-C https://ecoleaf-label.jp

OBEERRCEIT ZEMIER

DEROEX Y TUAIIPCRICHE STz, TIHMEX(ILE FEXESE XY I CEHAIL TR,

AARY-+ L QMBI RUMEICRETAEHRA DT ONT, SEUA I REGBZMMBIRIBEDE LRIEDIE. RADEDETRT, #%
DR E, OBRA D DLLETHAESINS,

3)—RT-HIE 2022 EDEREEHFER L, EHREAIIIEN, —MEIEEE 10T, 2014FE |2 EALE,
NETERBREL. ER, HFE. EROMEFHETHS,

SN BURCARE) M LB BEEATNEL,

©-1.ZD M DIRFEEIEFIR
ISO1400138%E T35 THRLEL T\,
[SRZE) IPCC2013 GWP100a] ICBI g 2315 ¢
AUBOBAEN, ZOEBORI-T3NTIV- 1 OGHGHIHELEET 356, ARREAVTEES BEHKON-RNYTY T
VNEEETBHAICE UTOURLELTHER T B,
https://www.nipponsteel.com/product/cfp/certificate.html
(LFEURLOAA(E. EPDOIRIET SRS

IEH CAS No. ERE
NVAY 7439-96-5 HEREHEEETS
Eiz] 7440-50-8 HEREEEEETS
704 7440-47-3 HEREHEEETS
vl 7440-02-0 HEREEEEETS

OFERALEZRT-9DEXS

IDEA v2.1.3 {ERALT,

®fE5
OJISHIE 1 JIS G 4303 (ATYLAMME) | JIS G 4304 (BREEATYLAMRERUIET) | JIS G 4305 (AEEZEARTY LMK
RUEH) IS G 4308 (ATVLAMMIRM)

OASTM A240/A240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate, Sheet, and Strip
for Pressure Vessels and for General Applications)

OASME BPVC. Il .A SA-240/SA-240M (Standard Specification for Chromium and Chromium-Nickel Stainless Steel Plate,
Sheet, and Strip for Pressure Vessels and for General Applications)

OBARRSKIRIE : BIEAT VLV AERIR. BEATYVAERMR. ATV AMER. A7 YL AR iR

‘202548 HAEBICHVWELEYM b ERRREIEELR,

‘2025F 118 MWEDLEE, BEHREEL.

-2026F4 A1B[®-1.20MOREEEIER | (LA HATER

OT-YEENH LR PCRELVEE - EERBESRL LA,
OLLEIOVWTR, EE - EERBICRESNEZHERILILBECLIRHONEEA,
(B BR5URL ! https://ecoleaf-label jp/regulation/)
FiFES © JR-BO-24002E-C



